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b, =0.157 079 628 8 X 10, by =0.370 698 790 6 X 10"
b, =—0.836 435 358 9 X 107*, b; =—0.225 094 717 6 X 107
b, =0.684 121 829'9')( 107%, " bd=0,"582 4238515 X 10™°
bs =—0.104 527 497 0 X 10™°, b, =0.836 093 701 7 X 10’
by =—0.323 108 127 7 X 107®, H, =0.365 776 303 6 X 107"
b1, =0.693 693 398 2 X 107"
BARBRAMMIREH 1.2 X 1077,
CHEFLUERF:
# include <Zstdlib. h>
# include <stdio. h>
# include <time. h>
# include <<math, h>>
# define Pi 3. 1415926535
double GaossUa(double af) ;
double GaossPx(double x) ;
double GaossFx(double x) ;
double GaossFx(double x) ;

void main()

{

double af;
double x;
af=0.05;

printf ("FRAE IE A B W42 5 af= %6. 30, u= %9. 6f\n" ,af,GaossUa(af)) ;
af=0. 85;

printf(C"ARE E A2 A af= %6. 3f,u= %9. 6{\n" ,af,GaossUa(afl)) ;
x=23

print{l("FRMEEA R E F(%5. 20 = %9. 6f\n", x, GaossFx(x)) ;
x=—1,5;

printf("FRAE IF 2 51 R F(%5. 20) = %9. 6\n", x,GaossFx(x));
}
/ /3t SR M TE 25 40 A B4 b 43 3
//F A Toda 3 2 i+ 8 (1967 4F)
/] af — — —H A L0485 43 0 4
// va — — —3&[E] b4 H
//XERERT] 1.2 % e—8
double GaossUa(double af)
{
double b[11]= {0, 1570796288 * 10,0. 3706987906 * 1. 0e—1,
—0. 8364353589 % 1. 0e—3, —0. 2250947176 * 1. 0e—3,
0,6841218299 = 1. 0e—5,0. 5824238515 = 1. 0e—5,
—0. 1045274970 % 1. 0e—5,0. 8360937017 * 1. 0e—7,
—0. 3231081277 * 1. 0e— 8,0, 3657763036 * 1, 0e— 10,
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0.6936233982 % 1. 0e—12};
double y,ua;
int i3
y=—log(4 x af » (1.0—af));
ua=0.0;
for(i=0;i<<=10;i++)
ua+=b[i] * pow(y,i);
ua=sqrtCua* y); //HHBEAR
if(af>>0.5) ua=—ua;
return ua;
}
/%5 HETE 25 53 A1 1Y) % BE oL
double GaossPx(double x)

double f;
f=1.0/sqrt(2. 0 * Pi) * exp(—x* x/2.0);
return f;

[/ SR Y IE A5 53 A B 43 A oR %

/] x— — — —HiA x

// prob— — — —i& [ P{X<= x} 4 #ii iR B

//% n=28, K ik % 1. 0e—12
double GaossFx(double x)
4
double prob,t,temp;
int 1,n,symbol;
temp=x;
if(x<<0)
X= —x;
n=28; //#& 5} RIT B %
if(x>=08&8x<=3.0)
{ //%H0<=x<=3.0H
t=0.0;
for(i=n;i>=1;31— —)
{
if(i%2==1) symbol=—1;
else symbol=1;
t=symbol * i % x* x/(2.0*i+1,0+1t);
}
prob=0. 5+ GaossPx(x) * x/(1.0+1t);
}
else if(x>>3.0)
{ //% x>3 8¢
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t=0.0;
fori=n;i>=1;i— —)
t=1.0%i/(x+1);
prob=1—GaossPx(x)/(x+1);

\
!

X=temp;
if(x<<0)
prob=1. 0—prob;
return prob;

}
1y allinest Syl
PRMETER MG b 467 % af= 0. 050,u= 1. 644854
PR EIEZAS 20 A 02 A7 % af= 0. 850,u=—1. 036433
K o TF A5 40 A7 s X F( 2. 00) = 0. 977250
i M IE 25 40 4 BB F(— 1. 50) = 0. 066807

1.2 Beta > T A F 2 A F9 =35 =5 A &9 =5 A7 58 3K

T 434 JF 53456 L I 43 4 55 43 75 09 53 A oF B0R 43 L 80 THEE &R T LLA F Beta 20 A 45 1
PR X 45 K Beta 43 B9 20 A6 R AKX 1, (a\b) FIADIEK B, (asb) HIE 3.

1. 9 # 23t F

(1)Beta 4} (53 1 BREK L, (a,b) BRI . Beta 2} (4015 BRI (a.b) A LI F LA

ICa4 1B =1, 0B — %U (a\b)
I Cabd 13 =1, Ca,5) + ,1—)U1 (asb)

A
U.(a41,b)= U, (a,b)

a+b
a

U,(asb+1) =“;“b(1—l-)u_,(a.b>

1 a(1 — b
Hrp U,(a,b) Ba® (1=ux)

FIJH Beta 7345 9 53 A5 R BOTHE T 2045 JF 434 . T4 B S8 a0 b (B 84 2 IE B,
WAL IO BRI R SRR IE AR L AR L ()t
B, XEEREAKXMYEMEREA LT 4 Mg .

1) % a=%,b=% B A

U,(%.%)ziw/r(l—r)

,i) =] — larctan /Q
2 713 T
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3)§a=1m:%wtﬁ
UAL%)zéwJL—I,IAL%J=1—JL—1
) Ka=1,b=10. 8
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(2)T 434 19 43 A B B3
_ 1y 1
1 ZI"(Z’Z)’ t >0
T(t| n)= i i
n
?I,(?q?)q t<0
__n
Ko * n -+t
(3)F 434 19 53 i R B3
. = m n
F(x | m,n) I'V(Z'Z)
K:F y= mx

n -+ mx

(4) T4 A 0 43 A R BT
D BEITEE., B a6 06 EBE TR . A

09 I<O
[x]
B(x | ny,p) = 2(:)1)"(1—1))"“, 0 a<nm

1, x=n
2) F|JH Beta 537 (940 fii R 8K 1, (a\0) iHE KB
Bz | n,p)=I_,(n—[z],[z]+1D, 0<x<n

2. pAaHot i

(1)Beta 434 (53050 B, (arb) (SR . J7 R ARUSRAR (9 — 40 AR3E R Beta 43 # 73L
. HB @b € O,D,50,DMEHR f() = (b —0—a)= 0 MHERKE., EHREXIE
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n 1. n
ﬁ"z"(?’z)—n+z§,
t,,(n)=\/ ':1 "

‘B]——za(?,?)

2) % g > % Bt .o, < O, TH £,(n) = —t,. (n) 8.

OF /Bt ®. FAHde SUBEEN F,. (m,n) iR F(F, | myn) =1—a,
fH F 534 R %5 Beta MR BRI LR, WA F, W2 -

m n

F(F,,|m,n)=ly(?,2)=1*a
_ mF,
Hrp y—-n-i—mF,,
m#H
mE, _,m n
n+mF,_B°(2'2)
nﬁa(ﬂql)
ik F,(m,n) = ZmZ =
m(1— (520
CiEs LR

# include <stdio. h>>

# include <stdlib. h>>

# include <<math. h>

# include <time. h>
# define Pi 3. 1415926535
# define MaxTime 500 //EXEBKEREH
# define eps 1. 0e—10 // & SKE B

double BetaFx(double x,double a,double b);
double TdistFx(double x,int Freedom) ;
double FdistFx(double x,int Freedom_m,int Freedom_n) ;
double BetaUa(double af,double a,double b) ;
double TdistUa(double af,int Freedom) ;
double FdistUa(double af,int Freedom_m,int Freedom_n) ;
double BinominalFx(double x,double p,int n);
void main()
{
double x,p,af,F;
int m,n;
m=10;
n=15;
x=2,5;3
— F =
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F=FdistFx(x,m,n);
printf("F 4345 F(%4. 2, %2d, %2d) = %6. 4\n" ,x,m,n,F) ;
x=1.4;
n=25;
F=TdistFx(x,n);
printf("T 4345 T(%4. 2f, %3d) = %6. 4f\n" ,x,n,F);
p=0.8;
n=120;
x=95;
F=BinominalFx(x,p,n);
printf(" =I5 43 A7 B(%4. 2f, %4. 2f, % 3d) = %6. 40\n" ,x,p,n,F);
m=10; n=15;
af=0.05;
x="FdistUa(af,m,n) ;
printf("F 4345 407 3 F( %4, 26, %2d, %2d) = %6. 4f\n" ,af,m,n,%) ;
n=15;
af=0.05;
x=TdistUa(af,n) ;
printf("T 434 _E 4 Gr %k T(%4. 2f, %2d) = %6. 4Af\n" ,af,n,x);
}
double BetaFx(double x,double a,double b)
{
int m,n;
double 1,U;
double ta, tb;
m=(int)(2 % a);
n=(int) (2 * b);
//UAF B e o e (A
if(m%2==1&8&n%2==1)

{
\

ta=0.5;
tb=0.5;
U=sqrt(x* (1, 0—x))/Pi;
I=1.0—2,0/Pi* atan(sqrt((1. 0—x)/x) ) ;
}
else if(m%2==18&n%2==0)
{
ta=0.5;
thb=1;
U=0.5 % sqrt(x) * (1,0—x);
I=sqrt(x);
}
else if(m%2==08&&n%2==1)
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ta=1;
tb=0.5;
U=0.5 % x % sqrt(1. 0—x) ;
=1.0—sqrt(1.0—x);
!
else if(m%2==0&&n%2==0)
{
ta=1;
tb=1;
U=x* (1.0—x)3
I=x;
}
while(ta<<a)
{
=1—U/ta;
U= (ta+tb)/ta* x % U;
tat=1;
'
while(tb<<b)
{
I=1+U/tb;
U= (tat+th)/th* (1.0—x) * U;
tb+=1;
}
return I;
}
//3EE T 434 t(n)FE x kb4 o 3018
//Freedom — — — — — B E
double TdistFx(double x,int Freedom)
{
double t, prob;
t=Freedom/(Freedom+x * x) ;
if(x>0)
prob=1,0—0. 5 * BetaFx(t,Freedom/2.0,0.5);
else
prob=0. 5 * BetaFx(t, Freedom/2.0,0.5);
return prob;
}
//it 8 F 2446 F(m,n)7E x &b 1 R B &
//Freedkom_ m — — — — — FE—AHE
//Freedom n — — — — — B _HHE
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double FdistFx(double x.int Freedom_m.int Freedom_n)
{
double y,prob;
f(x<X=0) return 0.0;
y=Freedom_m * x/(Freedom_n-+ Freedom_m * x) ;
prob=BetaFx(y,Freedom_m/2.0,Freedom_n/2.0);
return prob;

)
!

P Mt U1 o o

/p— — — — ISR

//n — — — — Z"Ii4AE

//i& 8l P{X<=x}

double BinominalFx(double x,double p,int n)

{

double prob;

if(x<<0) prob=0.0;

else if(x>>=n) prob=1.0;

else prob=BetaFx(1l.0—p,n—int(x),int(x)+1);

return prob;

}

//3F 5 Beta 24 A5 BHCH a bCESK N 1/2 B8R 005 GIER A af 69 b0 5 %

//a B —ZH

/1o R S

[/af — — — — i
//3& [l Al 43430 %

double BetaUa(double af,double a,double b)
{
int times=0;
double x1,x2,xn;
double {1.f2,fn,ua;
x1=0.0;
x2=1.0;
fl=BetaFx(xl,a,b)—(1.0—af);
{2=BetaFx(x2,a,b)— (1. 0—al);
while(fabs((x2—x1) /2. 0) >>eps)
{
xn=(x1+x2)/2.0;
fn=BetaFx(xn,a,b) — (1. 0—af);
if(f1 % fn<<0) X2 ='xn;
else if(In* [2<C0) x1=xn;
f1=DBetaFx(xl,a,b) —(1.0—af);
f2=BetaFx(x2,a,b) —(1.0—af);
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times+ +
if(times™>MaxTime) break;
}
//  printf("times= %5d\n" , times) ;
ua=xn;

return ua;

!

//AHE T 44 1(n) B 14 5K

//Freedom — — — — — H H1 B

[/af — — — i AH L0041

/ /38 8] 1AW 432 8 ua

double TdistUa(double af,int Freedom)

{
double va,tbp;
if(af<<=0.5)
{
tbp=RBetaUa(1—2 % af,Freedom/2. 0,0.5) ;
ua=sqrt(Freedom/thp— Freedom) ;
H
else if(af>>0. 5)
{

tbp=BetaUa(1—2 % (1, 0—af) ,Freedom/2. 0,0.5);

ua= —sqrt(Freedom/tbp— Freedom) ;
}
return uas;

}

[/ F 4045 F(m,n) #5347 3%

//Freedom m — — — — — E—HHE
//Freedom n — — — — — L _HHE
//af — — — & A Ll HE 5 437 3

//3& 18] _E Al 4L va

double FdistUa(double af,int Freedom_m,int Freedom_n)

{
double ua,tbp;
tbp=BetaUa(af, Freedom_m/2. 0,Freedom_n/2.0);
ua=Freedom_n * tbp/(Freedom_m % (1. 0—tbp));
return ua;

}

R A 5

F 447 F(2.50,10,15)=0. 9469

T 44 T(1. 40, 25)=0, 9131

IR 43 B(95. 00,0. 80,120) =0, 4457
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